
Ref # Description To Fit Part Number

#1 Small Washer/End spacer 1" Axle 36069
#2 1-9/16" Half Spacer 1" Axle 83987

#2 2-3/8" Half Spacer 1" Axle 36248

#2 2-9/16" Half Spacer 1" Axle 84127

#2 2-7/8" Half Spacer 1" Axle 83986

#2 3-5/8" Half Spacer 1" Axle 36779

#2 5-1/8" Half Spacer 1" Axle 36780

#2 5-7/8" Half Spacer 1" Axle 83985

#3 7-7/16" Spacer Spool 1" Axle 31717
#3 9" Spacer Spool 1" Axle 36778
#4 Bumper Washer 1" Axle 40255
#5 7-1/2" Ribbed Spool 1" Axle 28210

#6 Bearing Cap Half w/zerk 1" Axle 28211

Grease Zerk 1" Axle 49109

G-1 G-1Other items may be available via special order. Please contact us for additional information

Grizzly  Disc Harrow Castings

Part Number To Fit Thickness Heat Treat Color

90537 1" square x 1-1/8" square axles 3/8" RC40-45 Powder Coat- Black

90538 1-1/2" square axles 3/8" RC40-45 Powder Coat- Black

90539 1-3/4" round axles 3/8" RC40-45 Powder Coat- Black

90540 1-1/4" square x 1-1/2" round axles 3/8" RC40-45 Powder Coat- Black

Description To Fit Part Number

#1 1-1/4" End Spacer 1-1/8" Axle 51268

#1 1-3/4" End Spacer 1-1/8" Axle 51267

#2 3" Half Spacer 1-1/8" Axle 80926

#2 3-1/4" Half Spacer 1-1/8" Axle 51266

#2 3-3/4" Half Spacer 1-1/8" Axle 80925

#2 4-1/2" Half Spacer 1-1/8" Axle 51265

#2 6" Half Spacer 1-1/8" Axle 64092

#3 7-1/2" Spacer Spool 1-1/8" Axle 56918

#3 9" Spacer Spool 1-1/8" Axle 56917

#4 Bumper Washer 1-1/8" Axle 55358

#7 Slotted Bumper Washer 1-1/8" Axle 108676
#8 Disc Harrow Extension 1-1/8" Axle 26031

#1 #2 #3 #4 #5 #6 #7 #8

Bumper Washers- Spring Steel



Length Diameter Part Number

18.5" 1" sq. 106379
19" 1" sq. 106381

21.5" 1" sq. 106388

26" 1" sq. 106382

31" 1" sq. 106383

33.5" 1" sq. 106384

34" 1" sq. 106377

39.5" 1" sq. 106385

41" 1" sq. 106386

42" 1" sq. 106380

46.6" 1" sq. 106399

G-2 G-2Other items may be available via special order. Please contact us for additional information

Grizzly  Disc Axles and Bearings

To Fit Ref# Bearing Type Boxed PN# Bulk PN#

1" Axle ST208-1N Sealed 45109 83554

1-1/8" Axle ST208-1-1/8 Sealed 58518 83656

1-1/8" Axle ST209-1-1/8 Greasable 86222 N/A

Length Diameter Part Number

31' 1-1/8" sq. 106360

31.5" 1-1/8" sq 106361

34' 1-1/8" sq. 106362

40.25' 1-1/8" sq. 106364

42' 1-1/8" sq. 106365

49.5' 1-1/8" sq. 106366
57.5' 1-1/8" sq. 86049

58.5' 1-1/8" sq. 106368

65' 1-1/8" sq. 106394

67.5' 1-1/8" sq. 11623

To Fit Bearing Ref# Bearing Type Bulk PN#

1-1/8" Square Axle W208PPB12 Sealed 87527

1-1/2" Square Axle W211PP3 Sealed 85307

1-1/2" Square Axle GW211PP3 Greasable 85308

To Fit Ref# Bearing Type Boxed PN# Bulk PN#

1" Axle W208PPB6 Sealed 36404 83557

To Fit Ref# Boxed PN#

W208PPB6 80MM-4ZP 17975

Harrow Bearing w/ Trunion Housing

Round Disc Bearing Flange- Half

Disc Harrow Bearing

Disc Harrow Bearing w/ Flange

Disc Harrow Axles

Part Number Description

11631 Locks axle nut to the disc harrow axle. Can be used on a 1-1/8" or 1" axles

Lock Plate For Disc Axle

Part Number Description

36898 Slack Washer for disc axle with 1-1/8" sq hole  x 1/4" thick

Slack Washer


	G-1 Disc Harrow Castings (1)
	G-2 Disc Harrow Axles & Bearings (1)



